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A child stays at the telegraphic stage for about ;

et the roriect sption
.~ one and a half year
o)
one year
D |
two years - =
O correct
|
half a year
o)
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Defining the research question is a crucial _____step.

Swieert the correct sption

first
° correct

second

third
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In Functional linguistics, the concern is with_language asa
means of

.iﬂﬂhbﬂ'hﬂﬂ-!
research
O

study
®

‘communication
+ correct

journalism
o)
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|What specific name Chomsky uses for ‘the representation
of language in the mind'?

Sakit e sk ol
Universality
‘ o)

Performance
o

1 Competence
"

correct

| Innateness
O
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Children still show greater comprehension than ____ at
the telegraphic stage.

production
® correct

|

_—

- submission
O

‘ acquisition
@)

creation
‘ O
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|[Who among the following calls Applied Linguistics as “the
theoretical and empirical investigation of real-world
problems:?

falary tfia caTECE DpODR

Brumfit
. correct

.~ Nunan
0

‘ ‘Cook
O

Rampton
O
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Descriptive Linguistics is closely allied with the

Lwlmry e corvert sprtinn
natural sciences
O

'social sciences
. correct

‘humanities
o

anthrupuﬁgy
0
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Surface structure is the aspect of description that
determinesthe _____ form of sentences.
Ewiect the corrert sptinn
pragmatic
0 |
‘semantic
O
phonetic -
® correct
'syntactic
o
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colloquial adult language'?

Lwlect the correct option

Lenneberg
® correct

Nunan

:Eonk

.~ Cathy
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Who among the following says this: ‘In a three-year-old child
“grammatical complexity of utterances is roughly that of
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The rules that express the relation of deep and surface |
structures in sentences are called grammatical

wlmf e coryRct sgrsen
transformation

.
correct

alternation
(@]

transition
O

fﬂrmatiun

| O

T
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